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Grébe huppé 0 0 0
Grébe castagneux 0 3 3 3
Oie cendrée 0 0 0
Bernache du Canada 0 51 51 51
Cygne tuberculé 0 0 0
Tadorne de Belon 2 0 2
Canard siffleur 17 8 32 2 2 34
Canard chipeau 7 7 1 1 8
Sarcelle d'hiver 215 28 443 79 17 96 539
Canard colvert 838 155| 1463| 1350 9[ 1359 2822
Canard souchet 4 4 0 4
Canard pilet 1 1 2 2 3
Fuligule milouin 8 3 22 6 1 7 29
Fuligule morillon 0 11 11 11
Harle bievre 0 0 0
Garrot a ceil d'or 0 0 0
Foulgque macroule 89 64| 171 75 32| 107 278
Courlis cendré 0 0
Bécassine des marais 0 1 1
TOTAUX 0| 1175 262| 2145| 1570 70| 1640 3785




